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W1-km 0+099,80
R = 12,0 m

Z = 3,00m

T 0 = 8,96 m

α = 81,75 g

przechyłka jednostronna 3%

szer. jezdni na łuku 6,0m

km 0+458,00

KONIEC OPRACOWANIA

Odc. I

W2-km 0+137,20
R = 15,0 m

Z = 0,35m

T 0 = 3,26 m

α = 27,29 g

przechyłka jednostronna 2%

km 0+000,00

POCZATEK OPRACOWANIA

Odc. I

km 0+000,00
POCZATEK OPRACOWANIA

Odc. III
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W3-km 0+158,28
R = 6,0 m

Z = 0,40m

T 0 = 2,25 m

α = 45,04 g

przechyłka jednostronna 2%

W4-km 0+284,22
R = 60,0 m

Z = 0,33m

T 0 = 6,26 m

α = 13,23 g

przechyłka jednostronna 2%

W5-km 0+454,61
R = 8,0 m

Z = 0,63m

T 0 = 3,13 m

α = 47,90 g

przechyłka jednostronna 2%
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